B 445

JIRDaEE 220 e I E 22 /& B 55 = B R A AN B AT A 42 B R AL (BRASID

mKS ZREHS "4 e SHiEs NG E WHEHAL | BEHA | HAEER AYE
1 SQR00027252 FEm T HIEA 4325241982kt | FE A THI AR L4980 ) = 2 44 16313 R IS T S, Wil Tyt
RE JEEHGE A | 4205821982k kskskakskokok EEEIN
BEsRAE FeE A | 44030620 16%kkkkkckk
AT R FE[E HE A | 4403062009 kskskkkoik
2 SQR00027561 ZE ML 4 RN 4403061982tk | FE S THI AR L4980 ) = 45 16998 R S T S, W Tyt
P A LA H I A 440306201 1 kskeskskeskskskek EEEIN
KA FE[E HE A | 4415211985k
L)} FE[E HE A | 440306201 Tk
3 SQR00027858 ZE HIEA 440301198 9ssksestrek | 7 S THI AR Z180m* 1) = 7 46 17175 A I L
V584 LA HE A | 4403011988 %kskskokotk EITEIN
R I i FEE HE A | 440301196 ekt
M AE AT FeE I A | 440305201 5%kkkkokotk
4 SQR00028396 X% [ RPN 2305231980%kkskkkk | S [ AR Z180m* Y] = 55 47 17508 ARG, BrET Lyt
ZEIR FE[E HE A | 440305201 Tsksstototok 5] ER A
A FE[E HE A | 4201071980k sk
X785 R FeE A | 440305201 2%kkkkekokck
5 SQR00028627 21 HIEA 440883199 I skt | F AL R Z980m* ) = J2 48 17632 R A, i Tt
R FEE HE A | 440304202 ks RN
T i FEE I A | 4403011990 kkkkk4%
TP FeE A | 440304201 5%tk
6 SQR00028630 B plte HIEA 440301198 kst | FE A THI AR 2980 ) = 2 49 17635 R IS T S, Wil Tyt
HIHE JEEEHGE A | 440304201 6%kskskekskeokok EEEIN
SRS FeE A | 440304202 1ok
TH AT FE[E HE A | 4408021984k kskskokotk
7 SQR00028783 gk I3 RN 4403061982tk | FE S THI AR L4980 ) = 2 50 17732
[k Sy FeE A | 440306201 4%kkkkkkk
[ YRES FEFE A | 440306201 45555555k
PRt AT H[E HIE A | 4505211980k kskkekskeokek
8 SQR00028932 B4 HIEA 371522198 Gkt | 2 LT AR 2180 m* 1) = 7 51 17897 R S T S, W T syt
X SE FE[E HE A | 440306202 1 skt EITEIN
SRk JL[E HE A | 441523198 kst
RXHEAR FeE A | 440306201 Tk
KR FE[E HE A | 440305201 9kttt Y
[R5 FE[E A | 4413811985k
ik R ¥ FeE A | 440305201 5tk
10 SQR00029661 P HIEA 1301031982k | FE 4K TR AR Z980m° ) = J32 53 18955 A I
s H[E HIE A | 440306201 0%tk EETIN
i FEE HE A | 4414221984k
FER FE[E HE A | 440306201 9kkskskototk
11 SQR00029678 i HIEA 4403011983k | FE A THI AR L4980 ) = 2 54 18265
gk ER T FeE A | 440303201 0%kkkkckokk
sk T | JEEHIEA | 440303201 4skskokok
ik 4= & FE[E HE A | 4104251982 kskskkokok
12 SQR00030038 R HE A 4452241986k ki | ST AL ZI80m’ (1) = J 55 18486 R S T S, W T syt




gEpa e | FEEHIE A | 440305201 Tk S
LTS H[E HIE A | 4412291983 %sksekokstonek
giagy | FEEHIEA | 440305201 6kt
13 SQR00030092 {LAIE HIE A 440527197 6tttk | 28 0TI AR £ 80 M [1] = 52 56 18520 RS, il Tt
L0 FeE I A | 4403032009%%kkkk4% EIEIN
PR FeE A | 440303201 Tk
Y e E F i A | 4408811983%kkkkokokok
14 SQR00030246 ZENi A HIEA 492101198 1 ekt | 2 1 AR Z180m? ) = J52 57 18612 RS, Pl Tt
2= 3H FEE EE A | 421181201 ks Ry
ZEE FeE A | 440306201 8%kkkkkckk
eid FEE I A | 513401 1985%%kkkkkk
15 SQR00030331 MIHRE] HiE A 452525197 2tk | F AL AR Z980m” [ = J2 58 18664
XE JeE i A | 452525197 Txkkknnk
Hip£L A FJE[E HE A | 440308201 [ stttk
i AR FE[E HE A | 440308201 [ kst
16 SQR00031363 GG saic HE A 3508241984kkksrckskork | ZR AR Z180m* [t = = 59 19315 RS SIS, B AT Aoh 3k
XIEE JEEHE A | 3508241984 kkskskakskokok EEEIN
AT FE[E HE A | 350102201 0kttt
L FE[E HE A | 4403042020k
17 SQR00031462 YiiEF HiE A 4305211978kt | AT AR 2980 m° () = 52 60 19373 RS, Pl Tt
%ﬁmé IEE HIE A 430224 1989%kkkkskkskk FlHE A B S 2 S, 50
1%’5“] it]a EEijﬁsj\ 4403006202 1 kkskskskskskk i/ﬁ’ﬂﬁ’ f)ﬂl@ﬂﬁ%@]?y%ﬁ EEi/%g}\
7 on FEE A | 440306201 9% kkkkkk%
18 SQR00031469 KB PEER HIE A 4415221986tk | A I AN 2980 ) = 52 61 19378 S T E S, il T los gt
et FE[E HE A | 4415221985k ks E A B, B A T A2
%BAEDE\EE jj:]ﬁl EEl%EA 440304201 4%kkskskokskok Kﬁ%ﬂ‘%@f{ﬁ%ﬁz uﬁﬂ_ﬂilﬁﬁ5$|§/‘])\j‘
PR FeE A | 440306201 9%kkkkkkk [z 5 E
19 SQR00031749 R HIEA 2206211984k | 7 T AN Z180m? ) = Ji2 62 19543 R, i Tt
RN FE[E HE A | 440305201 8%kt Ry
FERE R FeE A | 44030520 16%kkkkkkk
g FEE HE A | 4304821985k ks
20 SQR00032448 BaiE HiE A 4403061980tk | F 4 T AR Z980m” ) = J2 63 19964
A FEE HE A | 441422198 kst
MEA FE[E HE A | 440306201 5otk
mEA JEE HE A | 4403062008 kseksokek
21 SQR00033152 R IA T g A 4311241985%kkksicksk | A ZI80m* [ = )5 64 20395 RS SIS, B AT Aoh 3k
B,iﬁ’?'ﬁﬂé :H:EJ EEﬁ%A 440306201 7*kskkskskokskok ]ﬁj EEl%EA, Tﬁ%ﬂﬁ, %bﬂzl—(ﬁiﬁ:%ﬁ-t
et LA HIE A 4403062020 %kkskkskkskk W B 3L | BASEI AA
feRZ | KEHIEA | 5107241992%kkkkkok ] % 5 (3
22 SQR00033242 RIS RPN 441424198 Isoktoretox | 2R AT AR 2980 m: (1) = 2 65 20457
L FEE HE A | 441424201 0kt
RS JEE HE A | 440303201 4%sktoksiokek
AR T FEE HE A | 440785198 kst
23 SQRO0033648 FNME HHEA 441621198655k | H A TH FLZI80m? [ = 2 66 20720 S T E S, il T los gt
IR A FEE HE A | 440306201 Ttk E A B, B A T A A
%']ﬁ jj:]ﬁl EEl%EA 440306201 5kskkskskkskok Kﬁj‘%ﬂ‘%‘%ﬁﬁ%ﬁz uﬁﬂ_ﬂilﬁﬁ5$|§/‘])\j‘
0% e HEHEA | 4416221982k kkskkkokok i[5 5
24 SQR00034245 XIfE A HiE A 3624221982sskskksketeok | AT T AL 180 M [ = J2 67 21087 R, i Tt
s FeE I A | 3625261986%kkkkkkk EIEIN
XIS F FeE A | 440306201 8%kkkkckckk
X BH 5 FEE HE A | 440306201 2%k




25 SQR00034611 BB HIEA 441421197 Tk | F ST AR Z980m* ) = J2 68 21321 WA, i Tt
T JE[E HE A | 4414811983k RN
PR FeE I A | 4403032008%%kkkk4%
PhEERY FE[E HE A | 440304201 8otk
26 SQR00034634 TEX HIEA 420106198 4%tk | FE A THI AR 2980 ) = 2 69 21338 A I
JLEEA LA HIE A 350583198 2skskskkskksksk EEEIN
JUIT G eE A | 440304201 2%kkkkkokk
DIRGEN FE[E HE A | 440304201 63%kskskokook
27 SQR00034837 R HiE A 4412831985%kkskiokx | FE ST FH Z980m” [ = J2 70 21466 RS T S, W T syt
22 ik LA HIE A 440305201 7kkeskskeskskskok EEEIN
REH FEE HE A | 440305201 3kt
PR H[E HIE A | 4403011986k
28 SQR00034949 KK HE A 513027197 5otttk | 8 477 T AR £ 80 M2 [ = J2 71 91543
gk S FE[E HE A | 5119022003 %otk
X FE[E HE A | 430524197 Tk
peEEiE | SR A | 5119022007 sksekkoksion
29 SQR00035157 AR MEHE HHEA 4403011988k | HE AL H FR L4180 M2 [ = = 72 21681 AR, Pl bt
SARE FEE A [ 440305201 9kseksteorsolok ELERZPN
REE FEE HE A | 440305201 Tkt
gk FE[E HIE A | 4403011988skkekeketokek
30 SQR00035430 D% HIEA 4303811985tk | FE A THI AR Z980m* ) = 2 73 21853 A I
R o] it FE[E HE A | 440305201 Skt RN
[ = A FeE I A | 4403052020% %% %5k5%
R A8 AT e E i A | 350822198 Ikskskskokototk
31 SQR00035463 ERAN HIEA 510107198 Ikt | 28 ST T AR 2180 m° [ = 72 74 21877 A I
(ALY FT JEEHGE A | 44180220095k kskskekskokok EEEIN
i 48 2% FeE A | 4303211982tttk
fr 3] A FE[E HE A | 440305201 8tttk
32 SQR00035895 AR RE RN 440509198 4%tk | FE A THI AR 2980 ) = 2 75 99157 R S T S, W Tyt
VEEEH FeE A | 440305201 Tk EIEE N
AR Fe[E R E A | 4452241984k
ViR g FEE HE A | 441900201 2%kt
33 SQR00035975 HFEH HIE A 3526011982kt | T4 T AR 2180 M° [) = J2 76 99903 R, B0t
EERSAL FE[E HE A | 440305201 0tttk EITEIN
i EE H[E HE A | 440305201 Ttttk
XU AE FeE I A | 4413241984%kkkkkkk
34 SQR00036066 ik i RPN 4206251983kt | 4 471 T FH 27 80 M2 [ = J2 77 29958 S G, BT LA Jydt
7K B Rk FEE HE A | 440306201 2%kttt Y
R FEE HE A | 4210871986k
gl FeE A | 440306201 8%kkkkkckk
35 SQR00036074 T HIEA 421002198 Ikt | FE S THI AR Z980m* Y] = 78 29969
AR H[E HIEA | 4210022009k kskkskskekek
2R FEE HE A | 4210021983k
HAY FE[E HE A | 4210022005%ksksskkokok
36 SQR00036090 iuta i3 HIE A 6204221984kt | F AL AR 2980 ) = J2 79 29974 R A, il T Bt
ST JEEHGE A | 4211261983skkskskekoskokok EEEIN
*T FeE A | 44030620 16%kkkkkkk
TR FEE HE A | 440306201 [ kst
37 SQR00036172 Z Kt RN 441426198 Ttk | S THIAR L4980 ) = J2 30 99317 R S T S, W Tyt
EEW LA HIE A 440304201 3kkskskskskskek EEEIN
RIKE FeE HE A | 441426198 Tk




AR FEE HE A | 440305201 8%kt
38 SQR00036231 TR 5 HiE A 4526241978kt | F AT AR 2980 ) = J2 31 99359
AR FE[E HE A | 4521281979k
AR FE[E HE A | 451421201 3sskssoololok
e A FE[E HE A | 4514212009k
39 SQR00036396 TI%E HE A 150105198 1 skttt | 847 T R Z180m° [ = J 82 29458 R EE TS, WA T s gt
XK | SEE S A | 1526321986kt ] A -
T FE[E HE A | 440304201 9kttt
T B FE[E HE A | 150105201 0kt
40 SQR00036566 B KE EERTEDUN 4416241982k %% | A AN ZI80m’ (1) = 5 83 29564 W ERE S, WA T s gt
ke 1 JEEHIE A | 440306201 8%kkkskekonk BTN -
T HE HIEA | 441624201 0%skekokiork
o [E g FEE HE A | 4416241982k
41 SQR00036734 ;| VAN HiE A 4417211985tk | 7840 THI AR 2180 M 1) = 2 84 29672 ARSI S, B AT m) Ayt
L ihuin JEEHIE A | 4417211984%kkxkko8k BTN -
22 R LA HIE A | 440304201 8kskssiesoteonsk
AR+ FeE A | 440304201 2%kkkkckokk
42 SQR00037112 £ bl [ HiE A 4414231985%skks0kkx | F ST AR LZ180m? [1) = J2 85 229292 ARSI S, B AT 5 At
B4 H 7 JEE HIE A | 4405821984 kskeksketonk BTN -
A FeE A | 440305201 5kkkkeokok
= FEE HE A | 440305201 Tkt
43 SQRO0037271 b5 EE A | 5113041985k | EEA TR Z180m 1) = 55 86 23028 RIS, AT L83t
ANE] FEE A | 4415221988skskkskoksion ST\ -
PiREER FE[E HE A | 440303201 2okt
AN FeE I A | 440303201 Ttk




